TR 2 2 FENHRAKEEKEANTERER

1 AHRAKE
(1) ANOBRORECHETIRFEELERE

=== =
EH g (BTN ED B
AREOL mg/L TEH | TR | THRE | THRY 0.01TLATF
£IT Y mg/L | FEH | TR | TR | TRl BmEhizNl &
Eia] mg/L TEEH | TR | THRE | THRY 0.01TLTF
Nl B L mg/L | FEE [ FigH | FEd | T 0.05LLF
itz mg/L | 0.001 0.002 | 0.001 0. 002 0.01LLF
KR mg/L | T | TR | FHRE | Fgd 0. 000554 F
T ILFILIKER mg/L | FEE | FRE | TRE | TRb BHEhBWI &
PCB mg/L | T | TR | TR | TRl B EhizNI L
coroorsay mg/L | T | TR | TR | TRl 0.02LLF
mig{b xR mg/L TEH | THE | THRE | THRY 0.002LLF
1, 2=Y900xT4ay mg/L TEEH | THE | THRE | THRY 0.004LLTF
1, 1—=o90RIFLY mg/L | FRE | FRE | FRE | FRE 0.02LLF
YRA—1, 2=24900IFLY| mg/L | TRYE | Y | FRE | Frd 0.04LLTF
1, 1, 1—kYs0RITHY mg/L | FEE | FRE | TRE | TR 1T
1, 1, 2—rysBERIAY mg/L THEH | THE | THRE | THRYE 0.006 LA
ckysooTFLY mg/L TEH | THE | THRE | TR 0.03LLF
Thk>2BBIFLY mg/L THEH | THE | THRE | THRYE 0.01LLF
1, 3—ysoo7aoRy mg/L | FRE | FRE | FRE | F&H 0.002LLF
FI5 L mg/L | FEE | FRE | TRE | TR 0. 006 LA F
DR mg/L | T | gl | FRE [ TR 0.003LLF
FARALTD mg/L | FRE | FRE | FRYE | FiaH 0.02LLF
¥y mg/L T | T | THRE | TR 0.01LLF
LY mg/L THEH | T | THRE | TR 0.01LLF
HEMERRUEHEBREER mg/L 1.6 1.1 3.0 2.6 10LLF
PAVEA mg/L 0.12 0.12 0.15 FN L 0.8LLF
RO%E mg/L [ 0.03 0.1 0.03 0.03 1LTF
1, 4—CHFH> mg/L | FEE | FRE | TRE | TR 0.05LLF




TR 2 2 FEAHRAKEEKERERR
(2) HEBEORLICHETIRBEEES

7 A
B, - B0, | s | SSez | TVos | TP | D0y | ABEEE |
iS4 | Hu %2 53 54 %5 %6 %7
KBE  |WEREE|AEA[ of (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
68| 78| 71| - 8| - = 12.0 | 4 900,000
- 8H| 74| 10| - 9 - = 7.0 | 1,300,000
TR R 74 73] 18 - = 3.4 130, 000
28] 75| 17.0] - 0] - = 5.2 79, 000
68| 75| 36| - T - = 3.6 | 1,300,000
o 8H| 74| 62| - A = 6.2 | 3500000
RRRAKE &R —g7 T 77 - A = 1.3 140, 000
28] 76| 87| - 0] - = 8.4 330, 000
68| 7.7| 34| - 3| - = 6.0 49,000
N 8H| 76| 40| - 0] - = 1.4 130, 000
= Al 18] 17| - 5 - = 5.0 49,000
28] 78| 60| - 5 - = 8.0 29,000
6H| 7.6 | 22 < 8| - = 8.4 290, 000
. 8H| 15| 22 > 5 - = 6.9 33, 000
, ,
BKM —ET 78 08 > 7| - = 8.9 2,600
28] 8.3 | 3.6 >3 T - = 16.0 330
%
e 68| 7.7 2.1 b3 5| - = 9.0 3,300
e 8H| 7.6 | 2.6 ] 8| - = 8.0 170, 000
| ,
BAMK—T5 5 7 10 '3 7| - = 17,0 3. 300
28] 7.9 1.9 '3 T - = 17.0 1,300
68| 7.7| 43| - A = 6.8 29,000
8A] 76| 36| - 8| - = 6.7 33, 000
#l FNXE 75738 o8| - 6| - = 72 17,000
28] 79| 28] - 5 - = 8.4 330
68| 75| 24| - 0] - = 8.0 49,000
o 8H| 7.4 18] - 8| - = 6.6 790, 000
FREE TR 75 [ T3 - 71 < . 7.8 17, 000
- 28] 75| 73] - v - = 7.8 33, 000
BE:a Il
68| 74| 26| - A = 5.8 22,000
8H| 7.4 220] - | - = 4.0 26. 000
i 3y
e Tyt R I 5 - . 9.1 22,000
28] 76| 67] - 8| - = 8.2 17,000
68| 76| 44| - ] - = 6.6 79,000
8A] 73| 31| - 6| - = 5.0 210, 000
Hig Al 75| 07| - 7| - = 9.6 2,800
. 28] 7.7 22| - T - = 12.0 2,900
5 68| 75| 27| - N = 9.0 70, 000
- 8A] 73| 33| - 2] - = 7.2 49, 000
e L =t B Y 3| - = 9.7 3,300
28] 7.7 19| - i - = 1.0 7,000
68| 7.4 | 43 ’s 2] - = 8 4 17,000
- 8A| 73| 2.1 ] 23] - = 7.4 130, 000
= 1A 7.5] 0.9 ’s T = 9.9 2,900
e 28] 75| 15 ’s 7| - = 12.0 330
el 6 A 7.6 2.4 - 12 - - 9.0 49, 000
- 8A| 74| 31| - 5] - = 71 280, 000
" 1A 75| 06| - 5| - = 1.0 13,000
28] 7.7 10| - T - = 12.0 1,300
68| 7.6 | 31 ’s 8| - = 7.8 49, 000
» 8A| 75| 43 '3 9| - = 9.9 49,000
HHATE e 27 <1 5| - = 10.0 170, 000
28] 79| 6.1 '3 3] - = 13.0 170, 000
Kl 6A] 76| 23 '3 6| - = 7.2 49,000
8A| 76| 35 '3 7 - = 6.3 28, 000
K —HET 77 5.7 '3 6| - = 7.4 540, 000
28] 8.4 509 '3 9 - = 7.0 24000
68| 76| 29| - 8| - = 7.8 35,000
8A| 73| 67| - 0] - = 2.4 700, 000
MRE —7a 78 16 - 7| - = 8.7 49, 000
28] 79| 200] - 2 - = 49 3,300
AN 68| 76| 35| - 6| - = 8 4 70, 000
N 8A| 75| 30| - 9| - = 5.6 220, 000
RE® g 70 190 = 7| - = 7.4 17,000
28] 791 60 - 5 - = 10.0 4900
BAR 8.4 220 SIS - 7.0 |4 900,000
BNE 73| 06| - T - : 7.4 330




T2 2 FEANKEAKEBEKERERER
14 8
COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G DO.:.7 j{ﬂ%%ﬁﬂ
kg |BEEAE|BEA| pHi a i & i i i
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
6H 9.5 20.0 - 36 1.7 0.16 22.0 3,300
8H 7.4 25.0 - 50 2.9 0.41 12.0 79, 000
sthim B0
1A 1.2 9.8 - 16 1.8 0.12 10.0 3,300
2H 9.3 26.0 - 36 3.5 0.31 24.0 700
6H 9.2 12.0 = 48 1.9 0.12 13.0 1, 300
8H 9.0 11.0 = 22 1.4 0.14 10.0 33, 000
E/ 07 o
1A 8.0 11.0 = 18 1.5 0.09 10.0 1,100
2H 8.5 14.0 = 16 1.6 0.11 13.0 130
6H 7.6 9.5 - 8 2.0 0.09 9.3 7,900
8H 9.3 15.0 - 22 2.0 0.23 14.0 3,300
T3 B O
1A 7.8 14.0 - 20 2.2 0.13 11.0 1,400
2H 8.9 18.0 - 1 1.8 0.17 12.0 490
6H 1.2 1.7 = 15 3.7 0.21 4.8 49, 000
8H 1.2 8.4 = 10 2.6 0.34 1.2 490, 000
RIFB B O
1A 1.2 6.2 = 9 4.4 0.26 4.4 14, 000
2H 7.6 8.3 = 9 5.1 0.32 6.1 17,000
6H 10.3 69.0 - 40 3.1 0.26 12.0 23
8H 10.5 76.0 - 57 4.1 0.26 16.0 130
FXith B0
1A 8.9 19.0 - 33 1.6 0.13 12.0 1,600
2H 8.9 15.0 - 25 2.2 0.21 14.0 490
RAE 10.5 76.0 = 57 5.1 0.4 24.0 490, 000
=/IME 1.2 6.2 = 8 1.4 0.1 1.2 23
1 pH - KFRIMVEE
%2 BOD -+ £¥LEMBREREE
3 n-H - A HEEYMEE
X4 SS - FEYE=E
X5 T-N - RERSEHE
X6 T-P - BRYASEHE
X7 DO - BAEMFEEE=E
%8 COD --- {LFMIBERERERE




